ﬂ @ 5 % @ Gang decimaler med 10.100.1000
NN

Navn: Dato:___ Score:____
2,555 x 100 = 6,23 x 100 =
4,349 x 10 = 2,436 x 1000 =
8,64 x 100 = 3,278 x 10 =
3,627 x 1000 = 4,369 x 100 =
1,582 x 1000 = 1,258 x 1000 =
8,994 x 10 = 6,303 x 10 =
5,444 x 1000 = 6,275 x 100 =
10,477 x 100 = 7,478 x 100 =
3,252 x 1000 = 7,86 x 10 =
7,252 x 100 = 3,304 x 1000 =
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Navn: Dato: ___ Score:___
2,555 x 100 = 255.5 6,23 x 100 = 623
4,349 x 10 =43.49 2,436 x 1000 = 2436
8,64 x 100 = 864 3,278 x 10 = 32.78
3,627 x 1000 = 3627 4,369 x 100 = 436.9
1,582 x 1000 = 1582 1,258 x 1000 = 1258
8,994 x 10 = 89.94 6,303 x 10 = 63.03
5,444 x 1000 = 5444 6,275 x 100 = 627.5
10,477 x 100 = 1047.7 7,478 x 100 = 747.8
3,252 x 1000 = 3252 7,86 x 10 =78.6
7,252 x 100 = 725.2 3,304 x 1000 = 3304
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